2A:

=Lk

=Sk

EX X3
EXZee SEHIEXLXANL/XNILEA)
_DJHKAI__] §X|SHX-1 29

EX X 2,148,130 2,034,956 113,174
= 1,148,000 1,148,000 0

== 1,000, 130 886,956 113,174

EXNZelY SEHIELXNGMNL/TLALZAI) 2,105,256 1,993,256 112,000
= 1,148,000 1,148,000 0

S 957,256 845,256 112,000

WSO EXNEE 2 17,673 13,673 4,000
EXzel & HHEA 28 17,673 13,673 4,000
201 2Bt23 | 7,673 3,673 4,000
01 At 22l 7,673 3,673 4,000
OZXNAL =& ZHEIIUX HELES 23 4,000 0 4,000
M=4 - S2t 3238t 2,063, 183 1,955,183 108,000
= 1,148,000 1,148,000 0

S 915,183 807,183 108,000

M= - 32 23 A 608,912 600,912 8,000
= 75,000 75,000 0

= 533,912 525,912 8,000

201 Ler2dd| 139,000 131,000 8,000
01 At 22l bl 8,000 0 8,000
OBIIAE =€ & =8 8,000 0 8,000
MEALASHAY E2(21) 200,000 140,000 60,000
= 42,000 42,000 0

= 158,000 98,000 60,000

308 XXl A SOl & 60,000 0 60,000
01 AXHHMBAEXS 60,000 0 60,000
OLZ2HFA NEEHLE X 60,000 0 60,000
NMFAAY A2 RXI22(=1) 338,000 298,000 40,000
= 131,000 131,000 0

=S 207,000 167,000 40,000

308 XX EtH SOl ™ 338,000 298,000 40,000
= 131,000 131,000 0

S 207,000 167,000 40,000

0t AXENILEES 338,000 298,000 40,000
OZZHFAANY AEE S22 338,000 298,000 40,000

= 131,000 131,000 0

S 207,000 167,000 40,000

HWRES(EXNNAN)(LLSIHY/LBt8Y) 1,174 0 1,174
HXE 1,174 0 1,174
[NEXRS JYLN B 1,174 0 1,174
802 BtE=JIEt 1,174 0 1,174
01 I NSx3EE3 1,174 0 1,174
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SM: EXXEDL
M YRES(ENND)(LNSIUT/Lere )

=90

(= S PN (e91:&

{0

0 128 NEMZEMMS OIKE 1174 \ 0 1174
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